

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD.

(CIN No. U40109MH2005SGC153646)

From: - Executive Engineer (Civil) EHV Civil Construction cum Maintenances Division Nashik "Administrative Building" ,Block No.6, 1" floor, Racca Plot, Old Salkheda Road, Jail Road, Nashik Road-422 101. Ph No.:-0253-2403101 (O), Extension Phone No. 0253-2403110

E-Mail ID :ee5710@mahatransco.in Websitet www.mahatransco.in Ref. No. EEC/EHV/CCCM Dn/NSK/Tech 3 _ Date:-E 8 MAR 2019

c- Quotation

Sealed and superscripted e- quotations are invited for the work of "Repairing of chainlink fencing 2 X 220 KV GEC end bays at 220 KV Bhenda Sub station, Dist:-Ahmednagar." As detailed in schedule "B" is enclosed herewith subject to following terms and conditions.

Name of Work:- Repairing of chainlink fencing 2 X 220 KV GEC end bays at 220 KV Bhenda Sub station, Dist:-Ahmednagar.

The quotations should reach to this office on or before 18/03/2019 up to 15.00 Hrs

- 1) The rates [percentage] should be quoted on Firm Quotation basis (Two Bid System only) including cost of materials, labours & T&P etc. required for execution of the work.
- (a) Compulsory Primary Documents in 1st Envelop: (Technical Bid)
 - Valid Certificate of Registration of appropriate class for Civil works from PWD /MES/ Railways/ (i) Jeevan Pradhikaran ETC.OR From Any Govt. / Central Government.
 - (ii) GST/ GSTIN Registration Certificate.
 - E.P.F. Registration Certificate issued by competent authority of Govt. (iii)
 - Experience of having successfully completed civil works. (iv)
- Payment of EMD Rs. 3000.00 to be made by bidder off-line only upto 14.00hrs of 18/03/2019 in (v) the office of EE(C), Dn., Nashik. EMD details Amount and M.R. No. should be super-scribed on the Envelope
- (b) Documents in 2^{ind} Envelop:(Price Bid)
- i) Price bid only where in the rates/percentage should be quoted in figures as well as in words.

NOTE:- Envelop No.2 (Price Bid) will be opened after qualifying in (Technical Bid) Envelop No.1

- 2) The quantities, enumerated in here attached Schedule B are approximate, however the payment will be made against actual executed quantities on site.
- 3) The work should be completed within 15 days from the date of handing over the site to commence the work, failing of which a penalty at 1/2% per week subject to the maximum 10% of the ordered value will be imposed.
- 4) The work should be strictly carried out as per standard specifications & up to the entire satisfaction of the Engineer-in-charge.
- 5) Cement of approved make OF MANIKGARH/ACC/Orient/Rajshree as per IS 8912-1989 i.e.43-grade OPC or equivalent approved make will be procured & used.
- 6) No materials will be supplied by the MSETCL for this work except materials as shown in Schedule A
- 7) Payment will be made through First & Final bill/ R.A. bill basis at the discretion of undersigned.

E:\MSETCL\Work order 2018-19\E-enquiry\Repairing of CF GEC end bys 220 KV Bhenda\ quotation 220 KV Bhenda

8) The contractor will have to pay security deposit to this office equal to 5% of the ordered value.

9) In case any accident occurred to the Contractor's labour/workmen during execution of work, the contractor will be fully responsible for all claims & compensation. No charge in any case will be borne by the MSETCL

10) The materials to be utilized for the work should be getting approved from the Engineer-in-charge prior to

its utilization for the work.

11) The terms &conditions enumerated in the approved Booklet "TENDER AND CONTRACTOR FOR WORKS" will be applied in this case & will be binding on the contractor entirely.

12) Right to accept any or to reject any or all the quotations without assigning any reason there of is reserved

by the undersigned.

13) Payment will be released to agency as per availability of funds. Further MSETCL will not pay any compensation due to non availability of funds.

Yours faithfully,

Executive Engineer [Civil]

EHV Civil CCM Dn Nashik.

Copy s.w.r.to.-

1) The Chief Engineer EHV Projects cum O&M Zone, Nashik.

2) The Superintending Engineer EHV CCCM Circle, Nashik.

Copy to-

1) The Dy. Manager [F&A] Dn. Office, Nashik.

2) Master File/Notice Board.

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO.LTD EHV CCCM Division Nashik.

Name of work :- Repairing of chainlink fencing 2 X 220 KV GEC end bays at 220 KV Bhenda Sub station, Dist:-

	Schedule "B"				
No.	Description of Item	Quantity	Unit	Rate	Amount
1	Removing wire fencing with iron/ C.C. fencing post and stacking the materials as directed with all leads, lifts etc. complete.	139.00	Rmt	51.00	7089.00
Ž	Removing wire fencing with iron/ C.C. fencing post and stacking the materials as directed with all leads, lifts etc. complete.	289.40	Rmt	51.00	14759.40
3	Removing rich mix cement concrete including stacking the spoils as directed with all leads, lifts etc, complete.	1.30	Cum	701.00	911.30
4	Dismantling stone masonry in lime or CM including stacking the materils as directed with all leads, lifts etc.	7.90	Cum	286.00	2259.40
5	Providing uncoursed rubble masonry of trap / granite / quartzite / gneiss stones in CM 1:6 in foundation and plinth of inner walls / in plinth of external walls including bailing out water manually, striking joints on un exposed faces and watering etc.complete.	1.00	Cum.	4982,00	4982.00
6	Providing flush grooved pointing with CM 1:3 for stone masonry work including scaffolding and curing etc. complete.	2.00	Sqm	143.00	286.00
7	Providing & fixing in position statutory type chainlink fencing 2.0 m High of 50x50mm mesh of 12 gauge GI wire,P/F 65x65x6 mm angle with 'Y' Type anti climbing device with 8 rows of 12 gauge barbed wire at 3mtr c/c with 150mm long 12mm dia MS Dowel bars fixed at bottom for fixing CL with stay post at every 10th post 65x65x6 mm size angle & at corner post. All posts fixed c.c. 1:3:6 block 450x450x500 mm size including cost of concrete including P/F 8mm dia MS bar with GI 'J' bolts of 6mm dia at each vertical / stay posts for fixing CL & 8 gauge GI wire at Top & bottom of CL stretched tight & other fixtures etc complete including 2 coats of oil paint or silver paint complete & 1 coat of anti corrosive paint [Nothing will be paid extra on any account] Work shall be carried out as per directon of Engineer-in-charge and as per drawing of MSETCL.(Agency's supply)	2.00	Rmt	1378.00	2756.00
8	Providing & fixing in position statutory type chainlink fencing 2.0 m High of 50x50mm mesh of 12 gauge GI wire, P/F 65x65x6 mm angle with 'Y' Type anti climbing device with 8 rows of 12 gauge barbed wire at 3mtr c/c with 150mm long 12mm dia MS Dowel bars fixed at bottom for fixing CL with stay post at every 10th post 65x65x6 mm size angle & at corner post. All posts fixed c.c. 1:3:6 block 450x450x500 mm size including cost of concrete including P/F 8mm dia MS bar with GI 'J' bolts of 6mm dia at each vertical / stay posts for fixing CL & 8 gauge GI wire at Top & bottom of CL stretched tight & other fixtures etc complete including 2 coats of oil paint or silver paint complete & 1 coat of anti corrosive paint [Nothing will be paid extra on any account] Work shall be carried out as per directon of Engineer-in-charge and as per drawing of MSETCL.(Angles will be provided by MSETCL.)	295.00	Rmt	655.00	193225.00

E:\MSETCL\Work order 2018-19\E-enquiry\Repairing of CF GEC end bys 220 KV Bhenda\Bhenda Chainlink

No.	Description of Item	Quantity	Unit	Rate	Amount	
9	Providing and fabricating structural steel work in rolled sections like joists, channels, angles, tees etc. as per detailed design and drawings or as directed including cutting, fabricating, hoisting, erecting, fixing in position making riveted / bolted /welded connections without connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete.	1.00	МТ.	12007.00	12007.00	
	Total Rs.					
Add 18% GST Total Rs. Say Rs.						

EHV CCCM Dn. Nashik.



- I / We hereby agree to carrypout the above work as under :-
- a) At estimated cost.
- b) Above......% in words......Of Estimated cost in Schedule "B"
- c) Below......% in words......Of Estimated cost in Schedule "B"
- I/ We have read the instructions and the same are binding on me / us.

Signature of the Contractors & Address.